=L

TEHME RiEEE ~ SMSE7H20H
FALE SHI3F3H29A
THE KIRFFERHETA T 5 EHIMMBLE (RTHR) FHELE ($2IR)
REARE
THisF WX e 4 T
ITHH ¥1,131,455,600- (> 5HEBMERE  ¥102,859,600- )
T 1t ¥1,028,596,000-
TEHE FEIE—X

MmIXE®EmE 4,819n

vy )—rE 10EE 18 697

BEEFES3M  ERMEFEL278M

BRE - -RUVTE BHEHEEYS BEX2EIREHEE ZHES
HEIE— CVWIE—RX HEFEMEHEIE—K




KRR ERHEMA4 TORLEIHEEAE

(BTEA) HFEIF (B2IK)

wER
E0) = &% HE
EEIEE
EETE 760,292,820
BN EEIE 31,998,898
INET 792,291,718
5 792,291,718
I HBERZE 61,969,908
I WREERE 78,126,346
m —REEESE 96,208,028
&t 236,304,282
&5t (IE1R) 1,028,596,000
SHEBANEE 10% 102,859,600
wast (IE®B) 1,131,455,600




AT Sl EBIAER

7 I 5 WAL # i i
[ F oMl 9] 1 605,122,930
=
H S ARBEHS T4 1 132.350.886
X
FGHM BRER 7= 1 14,152,392
"
Faf 2@ 1 8,666,612
K
at 760,292,820
ANV T4 FlEH BN
7 I H WAL # i i
AN T 452 1 1X) 1 31,998,898
"

Ty

31,998,898




AETE FLERBIAR

[ F 58+ 9]
% % & WAL P [ =
ELREARGRR
1 33,543,984
=X
+T
1 25,347,640
M
M
1 35,717,258
=X
S
1 68,591,240
M
aryzy—»h
1 84,627,560
=X
T
1 98,340,873
=
BEfl= 2 ) — b
1 436,656
=X
Bhizk
1 8,455,632
M
S AV
1 787,780
=X
KRB OPEEN 1
1 97,361,786
M
]
1 24,291,958
=X
EE
1 22,577,824
oV
AR T
1 45,450,846
=X
ik
1 1,438,968
M
gL
1 13,186,811
=
P 8 =
T FHEBINGER
[ F 58+ 9]
% % & WAL P [ =
=y FBLOZ DM
1 44,966,114
_ =X
605,122,930




AETE FLERBIAR

ER ALY T R
7 B T # i 5
RRNEEE
1 19,603,710
=X
TAEMRR
1 109,784,464
M
T AT 7 M A
1 2,962,712
=X
132,350,886
P S =
T FHEBINGER
FGHH ERERTE
ES 23 i LA Ll i z
ELREARGRR 1
1 491,330
=X
+TH
1 5,529,469
M
e T g
1 60,180
=X
Bk T4
1 1.276,290
M
ars7)—hILH
1 2,297,945
=X
BT 4
1 2.327,162
M
Bk T
1 465,791
=X
BREOE W g
1 95,606
M
&B T
1 380,600
=X
FELE
1 309,754
M
&Rl A TH
1 480,600
=X
AT 4
1 18.685
M
WAL T H
1 392,590
=X
2=y BLOZEOMTH
1 26,390
M

14,152,

392




AETE FLHEBING

%

)

7 I E-q i HAT i i

B Lo 1 131,760
=

+TH# 1 228,212
X

WETE 1 56.640
N

ki T4 1 714,580
K

avyU—hIR 1 999,553
=

TR L 1 1.007.680
=K

Bk 5 1 53,824
N

R LE 1 1.566,200
X

FETH 1 170,163
N

2=y FBEOZOMTH 1 3.738.000
X

&t 8,666,612

EAEG T A ERIPR

%%%ﬁl%@li? - — T - =

B mTs 1 6,493,765
e

IR 1 6.439,591
=K

B A AR 1 5,394,136
e

B R E 8 T 1 3.461,406
X

AN T 1 10,210,000
=

7 31.998.898




AT H PR E BIER 9
(F SR L F]
R A % W B & | Wi i %
e
1 33,543,984
=
7t
33,543,984
+T
1 25,347,640
=
7t
25,347,640
13 i3
1 274,350
=
Hi%E W
1 35,385,000
e
i LY ZbhbLITHE
1 57,908
=
7t
35,717,258
5 Hifh
1 68,591,240
=
7t
68,591,240
EPZA i
1 84,627,560
e
7t
84,627,560
A Hifh
1 98,340,873
e
7t
98.340.873
[IENVIENN o
1 254,830
=
AT H PR E BIER 10
(F SR L F]
R WA % W B & | Wi i %
[FIEDVIEN GE
1 181,826
e
7t
436.656
Bizk AN
1 8,169,872
e
Bk W
1 285,760
e
it
8,455,632
A2 AN (OM)
1 787,780
e
it
787,780
AR CWEN T
1 97.361.786
e
it
97,361,786
&R BIREOE W
1 2,776,250
e
R G
1 20,544,500
=
&R ()
1 971,208
e
it
24,291,958
R i
1 22,193,379
e
EE WS
1 384,445




AT H PR E BIER 11
[FEHiEETH]
B B 4 W R B 4 W it HL #H fii =
it
22,577,824
HRT TR =T LRGSR
1 . 10.884.200
AT SRR
1 17,589,400
=
AT AR
1 . 14,160,600
AT AT A
1 2,816,646
=
it
45,450,846
Bk S
1 852,952
=
s ek
1 586.016
=X
it
1,438,968
[aFI% S S
1 187,768
=X
PohLE P
1 12,999,043
=
it
13,186,811
2=y B LUE DM AN
1 1,633,404
=
2=y FBRUEOf B
1 43,332,710
=X
it
44,966,114
AT H PR E BIER 12
B ARSI IREE RS T
B B 4 W R B 4 W it HL #H fii Z
+T#
1 19,603,710
=
it
19,603,710
TAERk ELPE R
1 5,707,000
=
TR T
1 . 9.655,352
TAERk SLHEES
FAG T 1 4,383,000
=
TR JERER
av))-b L 1 . 5.437.284
TRk SLHEE
BT 1 3,572,878
=X
TR BEHLGARR T4
1 . 62,672,870
TRk T
1 18,356,080
=
it
109,784,464
TAT7 Ml 1IF % T
1 2,962,712
=
it
2,962,712




BETE PR EBIER 13
FGEH ERERTE
B B 4 W R B 4 W it HL fii =
ERE G L3
1 491,330
By
5
491,330
+T¥
1 529,469
=X
5
.529,469
I T i3
1 60,180
Y
5
60,180
SR L LIGS
1 ,276,290
=X
5
.276,290
arsY—hILE (IS
1 ,297,945
=X
T
.297,945
TR T (IS
1 ,327,162
=X
5
.327,162
BiATH G
1 465,791
Y
5
465,791
RIREONE WTE
1 95,606
Y
BETHE PR EBIER 14
FGHH ERERTE
B B 4 W R B 4 W it HL fii Z
7t
95,606
SR [GED)
1 14,900
M
SR T GED)
1 365,700
Y
5
380,600
JE T IG5
1 259,104
Y
e (GED]
1 50,650
M
it
309,754
SRR TR H e B
1 480,600
M
it
480,600
AT [GED)
1 18.685
M
it
18,685
PAVE TR IGED)
1 392,590
M
it
392,590
2=y B LOEOMTHE (OM)
1 16.290
M
2=y B LOZOMTH ()
1 10,100




BETE PR EBIER 15
FGHEB BRERT=E
B B 4 W oA B 4 % HT fii =
i
26,390
BETHE PR EBIER 16
FEf 2@y
B B 4 W Y % HT fii Z
[ER s
1 131,760
iy
5
131,760
+TH
1 228,212
iy
5
228,212
HiE T Hi
1 56,640
iy
5
56.640
(7R AR
1 714,580
iy
5
714,580
ayy )—hLH AR
1 999,553
iy
%+
999,553
AR T AR
1 1,007,680
iy
5
1,007,680
Bk T AR
1 53,824
iy
5
53,824
e LE AL
1 1,566,200




BETE PR EBIER 17
FEf 2@y
B B 4 W R B 4 W it HL fii =
7t
1,566,200
EH LY S
1 170,163
M
it
170,163
2=y B LOEOMTHE SR
1 3,738,000
M
it
3,738,000
AV TE PREBIER 18
SRSV TFQTIX)
B B 4 W R B 4 W it HL fii Z
T S - 36 R BT
1 1,426,233
Y
TE K - R LAk i
1 605,060
M
T - 360 EES
1 4,462,472
Y
T
6,493,765
IR AT
1 1,679,084
Y
IR LAk i
1 1,855,183
M
P37 EES
1 2,905,324
Y
5
6,439,591
VNN
1 5,394,136
Y
5
5,394,136
Ry T RBAETL
1 303,606
Y
R T LAk i
1 3,157,800
M
it
3,461,406
FEAM T BA T
1 2,233,860
M
RAMSH L LAk i
1 2,176,128




EAME & AR EBINER

I

10,210,000

19
SRSV TFQTIX)
B B 4 W oA B 4 o o HT fii =
JRIMT A L Pk
1 4,078,522
v
BAMI TS Aili%E
1 1,721,490
K
it




